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Write your Roll Number in the space provided on the
top of this page.

Write name of your Elective/Section if any.

Angwer toshort answer/essay type questions are to be
written in the space provided below each question or
after the questions in test booklet itself. No additional
sheets are to be used.

Read instructions given inside carefully.

Last page is attached at the end of the test booklet for
rough work.

If you write your name or put any special mark on any
part of the test booklet which may disclose in any way
your identity, you will render yourself liable to
disqualification.

Use of calculator or any other Electronic Devices is
prohibited.

There is no negative marking.

Youshould return the test booklet to the invigilatorat
the end of the examination and should not carry any
paper outside the examination hall.

In case of any discrepancy in Gujarati and
English version of Questions the English version
should be taken as final.
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SOCIOLOGY UHLTAUARA

PAPER 111 Yy III
Note : This paper contains FOUR Sections. You are required to attempt ALL
of them.
8 : B MsUHD AR Al §. i ol [@ewliH sl galell qudl-t
6.
SECTION I (Roeua 1)
Note : Answer both the questions (Q. No. 1 and Q. No. 2} in 500 words
each. | | (2x20=40)
dle ;DA wsiel oo . (4 A R) 835 Wil FUusl MOO UsEHL ML
(:x20=¥0)
1. Explain the salient features of Structuration theory of Anthony Giddens.

Pprefl DLl 22538 Rglarl ypu aasl el

OR (waal)
Distinguish between Quantitative and Qualitative research.
Avylcns A oeles dalaq a2l ot ealdl.
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2. What could be the positive and negative consequences of caste-wise census
data ?
ahd 2alRd duld amalldl esiicts A Asiiens el 2al s3)
OR (w4l
Bring out the issues related to gender discrimination in contemporary India.
At euzani AR dleeta siaa e suldl.,
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SECTION 11 (Reun II)
Note : Choose any one elective from electives 1 to 5 and answer all the questions
(Q. No. 8 to Q. No. 5) of the same elective in 300 words. (3x15=45)
A Rsew 1l W oAl sidua As [Aseu wde s wie sydl [Aseu-u
(1. 3 ol W) awl usildl 300 AEWML FAUe QU (3xqu=¥)
Elective 1 (Rural Sociology)
Rsenw 1 (e AuwunL)
3. Explain major approaches to the study of rural society in India.
clRaMi e AL oL you PR AxAdl.

4. Examine the impact of 73rd Constitutional Amendment on the empowerment

of the weaker sections.

Aol uuBasami 93 4 daella yarridd AU dwal.
5. Give sociological explanation of the phenomenon of farmers suicide in India.

ol RSl victecurdl el wugnlly yaul vl

©r (aa)
Elective 2 (Industry and Society)
Rsew 2 (Gelot 24 wwy)

3. Elaborate Marx’s ideas on Alienation.

st Rysadt (AAAR) 2id R e 52,
4, Discuss the salient features of industrial policy in India since 1990s.

1o el eiRardl »eilBls AR aaei-d aal 2.
5. Analyse the impact of industrialization on social stratification in India.

ol qeulrs 53w Gu alisarl g Rdua s
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5.

Or (»aa)
Elective 3 (Sociology of Development)

[asew 3 (RS Witwsa)
Critically examine modernization as a path of development.
[Asiil sust d¥13 2ugfs20d Roiows 0 awml,
‘Social structure’ and ‘development’ influence each other.
AHLS A wA R MUYEH vusal O,
Indicate the causes for the emergence of ethnic movements in India.
MMl delly wliglarti-l size)l dxod).

Or (»gat) |
Elective 4 (Population and Society)

[Asey ¥ (qul »d W)
Explain the concept of demographic transition.
alafavus dsusil vaadl 1 sl
What are the reasons of declining sex-ratio in Western states in India ?
UBAR oAl 2w ueun Qsud o)) azadi sl 487
What according to you are the reasons for successful control of population
growth in some states in India ? Illustrate with example.
MlRdAl Seals WML dufasiidl Fstadl asndii 5ol gl AN
%0 7 Geerw wia 2ul 53

Or (»ga)
Elective 5 (Gender and Society)

@sey u (ARusar = wue)
Explain what Feminists mean by production and reproduction of labour.
AUAUEDAL Bewtesdl »A Y Geulsseiil w4 4 53 8 7 d e 53,
What is the post-modernist perspective on gender relations ?
Al Aoial 290 sgpugFisdiaudli mEom 4 97
Explain the role of voluntary sector in the empowerment of women.
UL nulbdszaml ARos Al oylis vpee 530,
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SECTION III ([Reusl III)
Note : Answer the following questions in 50 words each. Attempt all the questions

(Q. No. 6 to Q. No. 14). (9%10=90)
Wiz AL €35 WSl WAG MO AGELHD ML, GLAL% Uil FAleL VL.
(u. s ol 1¥). (¢x90=t:0)

6. What is intersubjectivity ?
el Botddl ved g ?
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7. Define “Communicative action”.
alddld (syM3da) Bardll oy s3d.

-8 Explain the concept of ‘Deconstruction’.
slsgsunl [Rotanl uuadl.

Socio.-II1 16



9. Identify threads of unity in diversity.
RRAAHL Asdidl dwsuam safdl.

10. Give the meaning of “Sanskritization”.
daglaszeddl »ed 20,
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11.  What is relative poverty ?
A& a6l 2ed g ?

12.  State characteristics of slum.
BUSUZl-AL egell ealdl.
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13. Give meaning of the term ‘Deviance’.
‘Raa’-l Rela-u-dl «l 2 suul.

14. What is pluralism ?
‘i sdlans’ (wifans) wed g ?
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Note

4iq :

SECTION IV (Reat 1v)
Read the following paragraph and answer the questions (Q. No. 15 to
Q. No. 19) given below in 30 words cach. Attempt All questions.

5 x 5§ = 28
AL Uans il suld 23s wedl (A ol qe) AL TSl 30 AGEHL VUL,
Gl % USHll %AloL WYL (uxy=3y)

There are four ideal types of social action. The first means-ends rationality
is based on a set of expectations of other actors and their assumed responses
to environmental stimuli and other human actors. These expectations are
the “means” by which the actor calculates his or her own actions in order
to obtain his or her desired “ends”. An example of this type of action would
be extending one’s hand to a new acquaintance with the expectation that
that person will shake your hand and the goal of a successful social
cxchange. The second type of rational action, value rationality, is based
on the belief that some actions must be undertaken for their own sake
regardless of whether or not they will be successful. The confession of sins
to a Catholic priest in hopes of saving one’s soul is an example of this
type of action.

The other two types of action............. have a seemingly more irrational basis.
Affectual action is the result of the emotional state of the actor. An example
of this would be throwing expensive dinner plates across the room in a
fit of rage or acting in socially unprescribed ways in the name of love.
Traditional action is rooted in the individual’s routine systems of behaviour.
This would include things such as showering at night versus in the morning,
having tea at a certain time every day, or celebrating one’s birthday with

a cake and candles.

WHEs Baiwr Az »isdl usiz Sl 8. d U8l uy wudl—asiidl dlfsdl
oflog salali-l gl 2 Addl walazaesl Glusi ud sRud aQBu
An oflog Hirella salall Guz alid el §. Bl UL Adl WAL
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et 8 3 ¥l ad sdl Al Ofeed asdl elda szdl w2 dididl Buisidl
ool 53 @, L Usidl As Bad Gelsaw el wd 5 s A Wk
AL A owlg dlawadl 2 wUal WA el douadl. wdl use wMlBys [Amu-l
ey (g wu9l. ofla wsizdl s (B, yeu—dilfsa, » [EBraiy Gus
wMadid el 9 %, As wlssd Budl oA 4 ws wy 3 o+ Al d-dl Bl
ad, ¥ o Buell vidz adl o Adul. »ls ddilds dd glzt dididl sicusl
YEd W2 widlg stz i wddl Buid s Geleww ©.
oflw ol usiedl Buwtidl 2ufldl Jd ay olld—dlds 2ualz €l 9. cldids
(Bur ot saldl apwlati4 uReud sl 8 24 215 Gaere 3l ¢ ud 3,
Gettedl sl Hidl atqollaidl aollai Geowadl sirar duAr A 0l
Ad 2tiu ade 52, 2udl uIyzod Bardl o alba-dl deevin-dl adys
el Al sld 9. UMD wARAL wow sl A 539, sRUY As
issu AwHA AL Y], waar 35 wid dlaedl 9 dididl geay Goadl
AL AHIAY UL,

15. Explain the meaning of social action based on means-ends rationality and

social action based on value-rationality.
AAEA-AU UL A dAUEsctl 203 Het—dlFs sien3d qeilys Buiddl 208 dodl.
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16. What are affectual social action and traditional social action.
oitdrliens MBS Bar » wIvod wlss Ba g Sy 8 ?

17.  State the methodological approach implicit in the above paragraph.
Guist §5 wAMHRA uglaolly PR wudl.
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18.  Give suitable examples of four types of social actions other than those given
in the above paragraph.
L S5UHL UL 204 Gete e RaiunAL AHBrs Fuidl AR USRAU 41y
Gels Rl AL, |

19.  Which type of social action can be said to be the feature of modern industrial
society ? Why ?
2 551 eulda s Bailiql wsl W sS 0ulrs Bu 2ugMs 0B
Al dlafisdl ela & 7 3 7
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